
答え：

③

答え：

=

× 3)× 4÷ 2
②

( 3 + 6

= 答え： 24

日にち：　　　月　　　日

=

名まえ

・次の図のような角柱の体積を求めましょう。(うすい字はなぞろう。)

①
3× 2× 4

① 例題

１

式：

24 ㎝3

2cm

3cm

4cm

式：

式：

底面が平行四辺形

底面が台形

底面がひし形

６×４

4cm

2cm

2cm

3cm

6cm

3cm

4cm



8= 答え：

=

× 2

=

÷ 2
③

4× 2

3( ) ÷ 2×

=

54

=

= 答え：

× 4

=

②
3 + 6

日にち：　　　月　　　日

答え： 24

名まえ

・次の図のような角柱の体積を求めましょう。(うすい字はなぞろう。)

①
3× 2× 4

=

=

① 例題 答え

式：

24 ㎝3

2cm

3cm

4cm

3cm

6cm

3cm

4cm

式：

36÷２×３

㎝3

18×３

54

式：

㎝3

底面が平行四辺形

底面が台形

底面がひし形

6×４

９×４÷２×３

８÷２×２

４×２

１

８

4cm

2cm

2cm


